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gaeid T80 BT o WF D,

Solution: ATd! Siia- TR decie 3118, STqd! dral ar Fiiae, a¥l aradb il
BN S IUd gl dTadtd axg s A1fgdl 3d. TSl g1 SRt a=il
Tiffeet! SiTd. IR g1 HigdTel! SR S a8y i 98 ST da-TdH
SdT ST, Tl Jacd 31 Jalee SITd. STaHid odT arel! FeRFT ad A1gid, &
e I, A0l UG- gacard AiS el SITdTd. gacarel Suoid [thar 31
AT, fiheR I1 Ysa ATcThe Ysadh IR 3 38, ‘SaHIdibed W
3 FTa, AMHYS 3 HTal.’ WUeE daH! ST geAfawdt sig, @ au=fia

G TIId UG IauaTd HIH gucd Hrid SRIdTd. aTadh el H4Td STqHias! S&h ol
JTeaur, HIgd! ¢, I <01, gUcard Hewdrd B 3RYd. gacharar e, fawg,
AUl Ach aradiAT R ol S, gHad STdH! ARG &Y 3.
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Sradt S1fOr geieid didid B WY B,

Solution: S S 3TYUME 3Td, d d FARIHT FiTIa" AT IFATIR T Siia- SiiTd
3. AR frezant Sfor Y SaRiT TITO! HST WHTET He<aTd dfRrsed WU 3.
SITHT BT SATUT SRSTAaT AR U g M. SIaHId gsad! ge-T siRiten
TR0 FITUaTeR A= el 37, IS8T 81 STad! fa=IY T Sl i eiia,
ADHIRETT § SAHIT HewTd 3. JIdHId H' 3d ATgId. ge-d aRadagi &4
STAHT SRIad 3. JITH TETET ged1/MRT g'HT T ToRTHR 3H &e
ehd.gacd dIqHT Jelide SEUIRT STIdH! AieudTal Uad HRid SRl STaHt 7
3{Terel! ATaaqul, T7e A1 gacard ardaar fHesd. aTdHidId geTHRT ST
& YR MYTITT T Jeeiard ol STTdl. JaRd STaH AT URITaR SHT S,
TR gAAREr T AMfeIeaqul 3Yd. dIeu-ddl Tua a3l STadidie sRufRid Aidl
faqgaul faf3d s Srar.
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JAAETd YR feTgH, HIurdTs] Tl YhRIfaw Ffdwar forgr.

Solution: gTETT A%, AISU IR Faeiard BTl UbR UTEdT [Hesdrd. d
3




() STHTER YR Jeicid

() Al HUMHD JI

(3) GAREIaR SR T

(%) UfaeTiie weifqwd geea

(W) 7199, e, fowTa afaR 3MuTid geera. a1 9d USRAd Afdd =0 d g
81 U Hg<drdl UhR 36, I YbRId TEredr faflRy azrdie Amdd, Secha-g
BHHARRT BeledT AT HIRIVANITGR [efga SiTd. LT &A1 BTH ®Rid SR &l
AT ST STelel S{gHd, IR, STAvIAT chatal ATHHI, Ty, 3TehH, fawd
ARG HTT favar™ fafed STTa. a1 R gaed shifae aryd fafte S
QRIGR, ST, Guafaell, STHRIdTsc! TR T Afdd 0TS gaaw fefgd
SIATd. BTl 98] T d! Jael ATerel Ydidl ke, & ekl 30 Aldbiagd dald
e, T AddINIIad HH el 3 Hddid 3Hd, T T IAT GghAih o
B SARY, JATGeAT THT AT AW HRY Hewd d. T S SII-IRIc, aFTesuu,
T =T ATGHT ST TR HROMAT S8l Hg<areAT 3T, AT Yh R T
eI STaHTd e HTaf-d MSIAT 3% Had 3.
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gaaa fafgar faarTd sraaran s forgr.

Solution: TN ATAH AT NI ATS! HewdTd! YfHehT Soiad Sl aTdHid of
SITfRI 318, o RMYA AT AR SHTGTaT geield Ud SR, arad "gad
JAHFIE AR HAHd ged 33l 318, Jaaard arddbr! s W= derd
Yl STd. JAAETd dIeabTeIdhdl 81 JeTa! A&Td oddl Sl gaad e 3R,
I HRUT A& U3+ dTdieh JaaiRd drad Sl JaearAl SRRISIIIA

AT s YU SERRIT Bl Ud. ATATST JeleiRdTe! HigUlt BRI R Tes YUl
IR SR TROM 3 JRIeRaTed SRUTIREA o YdeT areamgdd gaeae
T Tdl S dl fchad odUl HTIIAD 3. ANTS! gacardl favg, H&dd! HedH],
MNP, T, THIRN, SR T FardT faR HRIaT ANTI. AT Aol oidal
ITH BT 31, ARNEdd U ST JUifd ATSul Hgward! 3Rid. aradid
T8l AYTITATSt Hig Ul dTeT He<dT 3Rd!. gaeiard Qe &l Uchlava] & gard
ARTd. JAaRdT= RY, T 0T FHRIY Fiqd gacia-Tdd SUfard g I1ed giol
3{TAT D 3. oo UINT fadRe! ufard SRydl. e, e, e fHS Ukt




HTST 31U SaRISH 3R, ITH DTS 1 AUl a6l [daRId 9o Sawdd
3.
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JreTa I foret :

SR ECIEIRINGS

Solution: STH! A dRI drdeh =al BTG STAaSdTH! I dl Jud ATe!. STqd!
TSl gc-d dRdd 0 B 3RId. geHT UG Shd! 3&d, o) dIqdid =
3{TeIedT SISl [NY Ul SaRGD 3. Jedeid JIqHAT STdie SiaH! SaTg
GRAAUIT HTH HRId 3. JACIIT ST Geqdd Ugraul [ gid. 98 Teied
qrerg Juaredl ge-Rit gacardl Ya¢ 3RIdI. gaeid dradh -l e qUIRT, difgdl
GUIRT 3. a1 faaRAT Yadh] U didhe Jaeidld 3rd. STl 3a
JUTTST gAaare Had 8ld SMd. gcd dradh el Hid-id! g@d dd 3.
Jreehid JHIYTG] gaeid dreHTd gid 3.
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JrsaTd 3 forgT

gacaTd i,

Solution: TIRHATHTAR UHIRIT, THIRd BI0M=AT STqRIT U ed-aR gl HATd

JACATd SIS TR 81 3R, STAHAT ST SRR gy, Y], aracd! a1 areia
QTEURTAT &l & gaciaral HTGRIH ardaravul AU id Sd. ST 81 gaciard
Tl Ad 3. Sadided] gc-d Wy 101 uRumy TS YugRid! gacd
MRl 3% YdHdl. TASIRIAT & 3 IR AUD BId SR, AT
gIUTT=T HATGIqA gaciard favy ffes qrhdrd. T TRdd A8t dTad! J8s Suds
glad 3y ATel. ITaal STdH! YT AT, ATdid U B MU ANTATd. AT
SR fAfed 3Hdh die =i FUTOT HRId ANTd. AT Jeearal sis 9gel i
QT d. JAENITS! TRebTg FRI&1 SOTA . FHladTell 98T ge-rd FHigon
T AUl AT STqHT e JaaardT s AT Hdr 43, b,
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JrsaTd 3« foret

CREECICIRYIL

Solution: JUcG STAHIAR YT YT, AT STAH! YT 31 FTuar=n Uad Hid
3. gaad T arad = 3= faaR gacard =T bl STl
AR A a1 AoRTHR 3q gaaareT [T Has ohd! SiTd. giehare




YIS Gl gol, QYT Ieeh oy warrd Asa =i Sl SfUférd Sffd. HISd Wey
IS 3, d GRUMHBREBAT 3Rl TR 3&d. Jacid diddidl I dl diedd
3 HTH TS fHSUIRY STa. gaieiardid HolgprIdd KsGadIBSUUN IS
A 3. A A8 IR, AU Ued 3Hdid, TR [a¥g ISy
U Bid. [aSaTe B A&iTd B3 drad i fSRT QA Srdt, =11 HINd gacar
Tieuft 3 ur AT 3.
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JaRa afersed.

Solution: 3 al TG STTRIT drEH R A T AT ST (a9t pdgd
AT B, SR TWREUTIER YeHATITE UeHT dIdHid ST Sid ATel. 3= des!
qrEIBH AT SGDH AT gaad feifgd STdrd. geeiRd drahiicld Sdrd. Ue-d i
AT USRI 3RTd. Jaeid U+ Tl UeAded died 3d. diadid ge-d
JURITE a1 Id el Jacad SIauidd e gd UBIRIIdTd STOToTal Had el
STl gacrardT [aug AgH! drell Sl gl 'Udyid g 3¥g! TUrdrd.
AT JIdH! SHRATE YugrTe! gacard! it gl s,
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JAAHYAT TTal gacid fHesar SifoT ATd seesaa arrse foraT

Solution: . ¥ ThgART 083 RSt AHIT AT TAAMIAIA AT GRAUTTd THIRIT
STQIe gcd aradr. HiFT aRIAr gt aRgesT gt HITad aieaT ST&auii-T SeiiesT
SUYTST ¥R gacid ffed M8, G81 BgaR] 81 giiaTs HNTadial SiGad. a1
AR gear a1 fide™ 81 gaea forfgar sme. gniaTs ynTad g aaTe YftreT,
il eHIHRud faaR SfiT grieTs HITad irdid Xal siorarar a8 °ol g
Jacard HHd! [T 3Tg. Jecharal 3RY R0y T HIdTdrd fufiaruiar dau
3T GUITaTs HITaad! IS T a1 AT B 3ime. 3oy ot softarof, @
ol grTiaTs HITad I 3RIA YR HRTT AT AT SHeAEUG HTIOT 3R oY T
IS STeiel STde Afgel Iy aid daY geieara ufgedl e dRdd- g od
3{T8d. B A ST arddh WU IIPdl 888 dled ild. T ala=d, eI,
! A e 3Te § AT giIieTs HITad it fefgcredn fagren arear’ a1 aamd
T gaciRad- gecaTd AaTeRul FiRTadT 318, WaR RaTal A fadr=uned a1
JICE PRI JHIART Sl Idl. gleTs HITAd Tt Had il e




SIS R AYUl Faerard Ao Y0 eaeuTd IUT el 3178, ol 3RY,
T 0T FHRIY AT ¢l UldedioRk Jeield I=IE! Bldl. Jeleiardl HTST Uarg! SATfor
IRUMHSR 316, gliTs YA Iid J9d dAfaaHtd arad i HR ST GRIGUATRITS!
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STadiaR 31eTRd geerd fafgdar srraar TaRt ga=aT Wsaid forgr.

Solution: JTET Udhdil STAH! aR YR 3. FTATH! aXIAS GOl g1 FivTd.
Rg geAUdired €39 A [AAd BRI DIyl HH JAaGH™ 3.
TR ge-d AUl 3 AR STaH! §d 3d. 3= SIdHieR YR gaad
fofe T Taud STaHaT favg THSH 9ot 3Uferd eRid. aTdHiddl gedr, fod sre=xa
3d YIRS ATadldid geal YeauTdes ar fadR ®R1dl ARId. e HRU
3o ufume it giferd e 9T deIUul gedl 94 &1dl drld. STIdald gl
U] Yeohal MY °U3H ATdR UhTR THUl, [Rb e, SURRIT B0 3T SrefiaR
YIUTIT BT HRId AR, STadidiel Gedid ey HNd a2yl HRugmE §ad R0
TTAD S STAHAT URETd JUMIT He<ar sMre! TaHid doizi

e ged ®HR0l Sfed 3Xd. Sradidid ded M3 Hifgd! BHTGaR JHUTel d) arddbi!

Il THIT TS,




